\verb|rho-th7|

( -
-@- \verb|HLT_Z2-sig0.110000-alpha—1.99|
-®- \verb|HLT_Z2-sig0.110000-alpha0.00|
-& \verb|HLT_Z2-sig0.110000-alpha2.00|
]
0.09 ] + +
i) + + +
¢
0 A Ul + 4:‘1’4;
0.06 - o T
(0] [0} l
!I b
] s
t
¢
0.03 - n
i
o
A0
)
Am
%
0.00 -
-3 -2 1

\verb|log10(A/A0)_ref|




[11])
-@- \verb|HLT_Z2+sig0.130000-alpha-1.99|
-@- \verb|HLT_Z2+sig0.130000-alpha0.00|
-@- \verb|HLT_Z2+sig0.130000-alpha2.00| * +
D +
0.08 % + ++
(] A
_ ¢ ' b +++
E | I
4 0.06 1 ¢
= [0}
£ il
it $
A
II +
0.04 1 Ill
002- T T T
-3 -2 -1

\verb|log10(A/A0)_ref|




-8~ \verb|HLT_z2-sig0.500000-alpha-1.99)

-@- \verb|HLT_Z2-sig0.500000—-alpha0.00|

-@- \verb|HLT_Z2-sig0.500000-alpha2.00|

0.5+ (1]
m +
_ fi1} (11}
N~
e
T ]
£ ? o] °l .
2 (] ¢ &D
() A
2 BT “s
A
0AE
0.0 A
-0.5-
25 20 15 -1.0 05 '

\verb|log10(A/A0)_ref]

0.0



